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—/(=5a)% + V16a2 = — V2542 + |4a| = —|5a] + |4a| = —a
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0<a<1 e, /(1-ap - /la-1)? 2 1] 5HH?

@o @ 2 ® 2a-2

@ 2a+2 ® —2a+2

0<a<l19B=24-1<0,1-a>0

VI-ap - /(a-1)? = (1-a) - {-(a- D}
=l-a+a-1=0
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D-2<-V3<-1°E21<3-+V3<2
3<-V5<-20]B2 2<5-V5<3
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4< 2x—4<5

2x—4>0 < o,

16 <2x—4<25,10<x<14.5
2x—-4<0Yd,

-25<2x-4<-16, -10.5 < x < —6
x=-10, -9, -8, -7, 11, 12, 13, 14
-10-9-8-7+11+12+13+14=16
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P=V3+V5,¢g=V3-2,r=+5+2

O A=p, B=g, C=r @A:q,B:p,C:r

® A=q, B=p, D=r @ B=p, C=gq D=r

®B=r, C=p, D=g
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1) p, g, r & & TAE WA 23

(1 p-g=V3+ \/5_)—(‘/——2)—\/_+2>0.'.p>51
2)g-r=V3-2-(V5+2)=V3-V5-4<0..r>gq
B p-r=V3+V5-(V6+2)=V3-2<0.7r>p
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T 0 1 2

1 1,000 1,005 1,010

2 1,414 1,418 1,421

3 1,732 1,735 1,738

4 2 2.002 | 2,005

b) 2.236 2,238 2.241

>
> ®ehl 0.0472
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=0.4472 - 0.4 = 0.0472
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11.

2tA4E n of ot f(n) 2 =
fB)+f(5)+---+ f(19) 9 %I% Tstod et

11), f(13), f(15) = 3

SIX242X243%X4+4%x2=2+4+12+8=26




